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= X 4 .z,né; -Fiﬁﬁb(z)o)ﬂﬁﬁﬁ jj(gilgcf)é R 4 ‘Fiaﬁgégg;ki .z,n-f jj(gzljc:ié X 4 ,Z,né)f J:mﬁb(z)o)tt.a jj(gilicn%é X 4 J:lﬁﬁfJ(z)o)HSlE] 'Z]né)( jj(g')qic:ié
i 100kN/mM%Z#B% % -l -~ = -|3m%E#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
ZNLUS 1.00/ 000 ~ 456 56.92| #hLis [0.00 ~ 0.00] 1.58 8.28 LS 1.00] 500 ~ 500 56.92] hLlst | 500 ~ 500] 1.58 8.28
5 100kN/mM%Z#B% % 1.00/0.00 ~ 1.06 116.00(3mZ#BRSH| - ~ = - -| 100kN/mM%#B 2% 1.00| 12.64 ~ 18.72 116.00[3m%#BZ % ad ~ - - -
Zh Lot 1.00/1.06 ~ 885 100.00] #hbList |000 ~ 8.85| 2.10 11.01 ZHLS 1.00] 500 ~ 1264 100.00] #h st | 500 ~ 18.72] 2.10 11.01
3 100kN/mM#Z#BZ % 1.00[0.00 ~ 1.26 119.04(3mZE#BRD| - ~ = = -| 100kN/M%i#8 % % 1.00| 11.18 ~ 16.29 119.04|3m%i#B %5 o ~ = = =
Zh st 1.00]1.26 ~ 9.04 100.00f #hlu4t 000 ~ 9.04] 220 11.55 ZHLS 1.00] 500 ~ 11.18 100.00] Zh st | 500 ~ 16.29] 220 11.55
4 100kN/mM%Z#B% % 1.00/0.00 ~ 182 128.00(3mZ#BRBH| - ~ = = -| 100kN/ %82 % 1.00| 10.74 ~ 18.21 128.00[3m%#B% % o ~ = = =
Zh st 100|182 ~ 961 100.00| #hlust 000 ~ 961 227 11.91 ZHLS 1.00] 500 ~ 10.74 100.00] Zh st | 500 ~ 18.21| 227 11.91
5 100kN/mM#Z#B% % 1.00(0.00 ~ 151 123.09(3mZ#BRDH| - ~ = = ~| 100kN/ %82 % 1.00] 10.73 ~ 16.40 123.09|3m%H#BZ % o ~ = = =
Zh st 1.00] 151 ~ 930 100.00| #h st |0.00 ~ 930 227 11.93 ZHLS 1.00] 500 ~ 10.73 100.00] Zh st | 500 ~ 1640 227 11.93
6 100kN/mM#Z#BZ % 1.00[0.00 ~ 155 12359(3mZE#BRDH| - ~ = = -| 100kN/M%i#8 % % 1.00{ 1054 ~ 1587 123.59|3m%HBZ % o ~ = = =
Zh st 100|155 ~ 933 100.00| #hlust 000 ~ 9.33] 235 12.32 ZHLS 1.00] 500 ~ 1054 100.00] Zx kst | 500 ~ 1587 2.35 12.32
7 100kN/mM%Z#B% % 1.00[0.00 ~ 1.17 117.66|3mZ#BZH| - ~ = = -| 100kN/ %82 % 1.00{ 11.35 ~ 16.22 117.66|3m%Z#B 2% o ~ = = =
ZnLs 1.00{1.17 ~ 8.95 100.00f ZH1List | 000 ~ 8.95| 2.18 11.46 znLst 1.00f 500 ~ 11.35 100.00f Zh Ll | 500 ~ 16.22) 2.18 11.46
8 100kN/m#%#BZ % 1.00/0.00 ~ 1.65 125.21|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00{ 1053 ~ 16.25 125.21|3m%EHB %% = ~ = = =
ZnLs 1.00]1.65 ~ 943 100.00f Z1List | 000 ~ 9.43] 237 12.42 znLst 1.00f 500 ~ 10.53 100.00] Zh st | 5.00 ~ 16.25| 2.37 12.42
9 100kN/m#%#BZ % 1.00/0.00 ~ 232 136.18|3m%E{B %% a ~ = = -| 100kN/mM%E#Z% 1.00] 10.67 ~ 19.79 136.18|3m%E 8% % = ~ = = =
ZnLs 1.00]2.32 ~ 10.11 100.00f ZH1list | 0.00 ~ 10.11] 247 12.96 znLst 1.00f 500 ~ 10.67 100.00] Zh a4t | 5.00 ~ 19.79| 247 12.96
10 100kN/m#%#BZ % 1.00/0.00 ~ 1.31 119.91|3m%EB 2% a ~ = = -| 100kN/mM%E#Z% 1.00] 11.61 ~ 16.09 119.91|3m%EHE %% = ~ = = =
ZnLs 1.00{1.31 ~ 9.10 100.00f Z1List |0.00 ~ 9.10| 2.64 13.86 znLst 1.00f 500 ~ 11.61 100.00] Zh A4t | 5.00 ~ 16.09] 2.64 13.86
1 100kN/mM%#BZ % 1.0010.00 ~ 0.12 101.72|3m%E#EZ 5 &l ~ - = —| 100kN/mM%# %25 1.00| 10.68 ~ 10.99 101.72|3m%#B 25 =l ~ - - -
ZnLs 1.00{0.12 ~ 7.90 100.00f Z1list | 000 ~ 7.90| 2.28 11.94 znLst 1.00f 500 ~ 10.68 100.00f Zh Ll | 5.00 ~ 10.99| 2.28 11.94
12 100kN/m#%#BZ % 1.00|0.00 ~ 1.10 116.56|3m%E{B% % a ~ = = -| 100kN/mM%E#Z% 1.00] 10.67 ~ 14.00 116.56|3m%EHE %% = ~ = = =
ZnLs 1.0011.10 ~ 8.88 100.00f ZhList | 0.00 ~ 8.88] 2.27 11.93 ZznLst 1.00f 500 ~ 10.67 100.00f Zh it | 5.00 ~ 14.00f 2.27 11.93
13 100kN/m#%#BZ % -l -~ = —-|3mZEEZD -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS -~ = = =
s 1.00{0.00 ~ 7.65 97.99] £huist | 000 ~ 7.65| 2.54 13.32 ZznLst 1.00f 500 ~ 1229 97.99] Zhi4t | 500 ~ 1229 254 13.32
14 100kN/mM%#BZ % 1.00{0.00 ~ 0.17 102.54|3m%EEZ 5 al ~ - = —| 100kN/m%#B 2% 1.00| 10.53 ~ 10.99 102.54|3m%#B 25 =l ~ - - -
s 1.0010.17 ~ 796 100.00] Zhldst | 0.00 ~ 7.96] 2.18 11.41 ZznLst 1.00f 500 ~ 10.53 100.00f Zh it | 500 ~ 1099 2.18 11.41
15 100kN/m#%#BZ % -l -~ = —-|3m#EEZS -~ = = —| 100kN/M%# x5 = -~ = —-|3m%EiBAS =~ = = =
ZnLs 1.00/ 000 ~ 6.14 77.07| £h s | 0.00 ~ 0.00] 1.72 9.03 zh st 1.00f 500 ~ 7.08 7707 #nlst | 500 ~ 7.08] 1.72 9.02
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5 X 4 ‘e [THALOER] hoxes| 5 o [THALOKF] &z [ AOKES X 4 & | ERALOLSE [ hokES| o . [EHLLORS [ &S [ hoxss
(m) (m) (kN/m) 26 Bt (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
16 100kN/mM%Z#B% % -l -~ = -|3m%E#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
ZNLUS 1.00/0.00 ~ 6.06 75.93| #hLis [0.00 ~ 0.00] 1.65 8.68 Zh st 100 500 ~ 708 75.93] #hLlst | 500 ~ 7.08] 1.65 8.68
17 100kN/mM%Z#B% % -l -~ = -|3m%Ei#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
Zh Lot 1.00/ 000 ~ 458 57.16] £hilst | 000 ~ 458| 1.88 9.88 ZHLS 1.00f 500 ~ 5.00 57.16] #h kit | 500 ~ 500| 1.88 9.88
100kN/m%Z#BZ % ~ ImERBZ D ~ 100kN/mM%Z#B% % ~ 3ImEBEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#BZ % ~ ImEBEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#B% % ~ 3mEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh s ~
100kN/m%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#B% % ~ 3ImEBEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#BZ % ~ ImEBEZD ~
Zh s ~ Fhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh Lot ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Fhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
ZFh s ~ FhnLst ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~ |
=FR



